/N7F BEIN—Y ) X b
KSH85M

(D

P B =1t

A #t T555-0013KBRMEER)IERFA1THESS
TEL 06 (6472) 3857() FAX 06 (6471) 6336



HATSUTA

KSH85M A BN OEFERE




OB BZE VLMD HATSUTA
KSH85M
REES I—K RES = R EE
A- 1 H20400202 SFE/NUKRILIEY 1 *TW3/8
A-2 H20700106 FENCEIL 1
H20706100 FEFR/AUFIL B 1 A-12
A-3 H20400408 FAERNURILEY 1
A- 4 H04000304 AFvTY E-6 2
A-5 H20110509 HRIENVFILZITY 1
A-6 H20700209 AEVRILHAR 1
A-7 H20700301 SEW 1
A-8 H20700404 SEREURIL 1
A-9 H20700507 AFvT) G 1
A- 10 | H20700702 REEE SV 1
A- 11 | H20700805 RERTV TS Z 1
A- 12 | H20700908 RAERT)YS 1
A- 13 | H20701010 SRIE S+ 85M 1
A- 14 | H02302202 O-R P-26 2
A 15 | _H20701202 __H20706300 1
H20706300 &R £ R {AO-R{T 1 £AKOXRT PF1 1/4 A-14,15
A- 16 | H20705910 SAES— 85M 1 30X 16X 11
A- 17 | H20402405 FE—IP 1 36X24%2
H20701310 SAE S (5E) 85M 1 A-1~17
A- 18 | H20701410 R K = 1 W®AKAHRT PF11/2
A- 19 | H20706500 ADS5%E PT1/4 2
H20706600 It KE AT 1 A-18,19
A-20 | H01005200 AT INILT 1-1/4 1
A- 21 | H02300308 O-R P-7 1
A-22 | H20102203 A—A—avYBEEF vk 2 PF1/4
A- 23 | H20701600 A—A—H+E 1
A-25 | H20102501 A—H—P 1
A- 27 | H20709300 A—AR— 85M 1
A- 28 | H20706700 Fo o N—ETHS 1
A-29 | HO01702310 85A95E AV 1
A-30 | H02200673 NZLP KE=—JL 1
H20706800 Fr o N\—EF 32T (58) 1 A-28~30
A- 31 | H02301507 O-R P-21 1
A- 32 | H02301301 O-R P-16 1
A- 33 | H20702000 FIN— 1
A- 34 | H03701505 M12 Fwbk 4
A- 35 | H03900800 M12 R TIw % 4
A- 36 | H03800805 M12 Ty 4
A- 37 | H03701104 M10 7wk 2
A- 38 | H03900708 M10 R TIvi% 2
A- 39 | H03800702 M10 Ty 2
A- 40 | H20702103 B —PYSUR 3
A- 41 H20103402 )Lzt EE 2
A- 42 | H20702309 J1)AR 3
H20702490 VP 32 41 45 #f 3 A-43,44
A- 45 | H20702504 ) A—PRER 3
A- 46 | H20702607 ) F— 3
H20702802 )5 —(58) 3 A-40,42~46
A- 47 | H20301303 INLT22(58) 3 A-48~54
A- 48 | H20301406 INLT22 hT 3
A- 49 | H20301509 INVT22 ZRTY Y 3
A-50 | H20305102 INVT22 RTVUGHAR 3
A- 51 | H20301601 INILT22 R4 3




HATSUTA

KSH85M A BN OEFERE




OB BZE VLMD HATSUTA
KSH85M

REES I—K RES = R &E
A- 52 A-47~ INLT22 —k 3

A- 53 | H20301807 INLT22 PHAR 3

A- 54 | H20302009 INLT22 —P 3

A- 55 | H20404906 INILT27(58) 3

A- 56 | H20405005 INLT27 T 3

A- 57 | H20405108 INILT27 RTYVY 3

A- 58 | H20405200 INLT2T RuA4 3

A-59 | H20405303 INLT27 —k 3

A- 60 | H20405406 INILT 2T PHAR 3

A- 61 | H20405509 INLT 27— P 3




HATSUTA

KSH85M B. By hIEFHEHE




OB BZE VLMD HATSUTA
KSH85M
RHFES a—K RES = R BE
B- 62 | H20702905 AL AQE 1
B- 63 | H20703107 D59 —R 1 A)—T 1t
B- 64 | H20704902 ZA&ykB M10% 130 2
B- 65 | H20705001 Z24yhB M12 X 56 4
B- 66 | H20304407 Z24yhkB M10 X 38 4
H20703107 95297 —R(58) 1 B-63~66
B- 67 | H04201309 0S TB3 32x443x9 3
H20703156 9595 —20.S4(5E) 1 B-63~67
B- 68 | H20703314 J1)AHvT 32 3 320
B- 69 H20107109 AAIREOEP 1
B- 70 | H20107304 TAIREOEGEE) 1 B-69&{>
B- 71 H20703410 75 30 1 | F—U—EfE300 F—7
B- 72 | H20407300 J—1)—F— 7x7x50 1
B- 73 | H04103700 7)Y 6207 2
B- 74 | H20703520 0S 30x72x10 2
B- 75 | H20703600 N7V hiN— 2
B- 76 | H03900307 M6 RS TIwsy 6
B- 77 | H06361600 ARILE M6 X 16 + 6
B- 78 | H20703960 IR EHIN— 1
B- 79 | H03700902 M8 Fwbk 1
B- 80 | H06082500 RILE M8 X 25 1
B- 82
B- 83 | H03800702 M10 Ty 3
B- 84 | H03900708 M10 R T Iviv 3
B- 85 | H06103500 ARILE M10 X 35 3
B- 86 | H20704008 TS5 %— 3 32¢ X 186mm
B- 87 | H20704100 T5o05%v—FEY 3
B- 88 | H20704203 AFvIR 6
B- 89 | H20704306 JKEIYR 3
B- 90 | H20704505 a>ayk2(58) 3 B-91,92&%{
B- 91 B-90~
B- 92 B-90~
B- 93 | H20704604 ®BAHIN—P 1
B- 94 | H20704707 #“ABHIN— 1
B- 95 | H20109106 FANT— 1
H20707000 #AHNIN—(5D) 1 B-94,95
B- 96 | H03800416 M6 /INEIT S 7
B- 97 | H06361830 ARILE M6 X 18 + 7
B- 102 | H20705207 PHEEH/ \— 1




PR R Gy =L i

A #  T555-0013 KERMAEE/IRFFfH1-5-58 B 06-6472-3857 FAX 06-6471-6336
HE(E) T121-0836 HEENEIIX AA2-19-4-401 B 03-3897-8095 FAX 03-3897-8097




	表紙
	A.動力噴霧機
	B.動力噴霧機
	裏 表紙



